
We use the following expression to compute heat flux for Ar-Cu 

nanofluids: 

 

Now there are two methods of partial enthalpy calculation for Ar and Cu, 

please check it for me if one of it is right or both is wrong, thanks so 

much 

1. According to “We calculated the average enthalpy as the sum of the 

average kinetic energy, potential energy and average virial terms per 

particle of each species.” in Sarkar’s “Thermal Conductivity Computation 

of Nanofluids by Equilibrium Molecular Dynamics Simulation: 

Nanoparticle Loading and Temperature Effect”, we compute partial 

enthalpy for Ar and Cu as 
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2. According to the expression within Hoheisel’s article “Thermal 

transport coefficients for one-and two-component liquids from time 

correlation functions computed by molecular dynamics”: 



 

I got partial enthalpy for Ar and Cu as 
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